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The question paper is divided in five units. Each unit carries an internal choice,
Attempt one question from each unit. Thus attempt five questions in all.

All questions carry equal marks.

Assume suitable data wherever necessary.

English version should be deemed to be correct in case of any anomaly in translation.
FPE— 1/ Unit -1
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What are the main differences between a file Processing System and a
Database System?
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Explain the concept of data independence,

fordll amiIgea # agg @ voide W R 27§ W oo § tw O
SOl BN PR € 9 U W WRT geiee R Fd W w2 W
NI feed verge @ R R T € v e ve @ W giode
W 2w §) & e B R R F T 2 W i

10

10



3T 3

WeT 4

Code No. : 4009

@)

@)

@)

@)

TG SR WA H @1 Wl © 3N U IMEen U @ SRl ueleed d
TORT B Wed £ E-R diagram T80 R 39 Relvra wimr § ggford |
e eyl e ) iR o Sww TRt Ried B TR B

In an organization, several projects are undertaken. Each project can employ
one or more employees. Each employee can work on one or more projects.
Each project is undertaken on the request of a client, A client can request for
several projects. Each project has only on client. A project can use a number
of items and an item may be used by several projects. Draw an E-R diagram
and convert it to a relational schema. List some important queries, which can
be satisfied by the system,
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Define the BCNF? How does it differ from 3NF? Why is it considered,
stronger form of 3NF?
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A relation R has attributes A,B,C.D,E,F,G,H,1.J and satisfies the following

functionat dependencies :-
ABD—E, AB~—> G,B— F,C—>],C]— [, G—H.
What are the candidate keys? Is this an irreducible set of functional

dependencies ?

ARATIGWAA a1 8?7 §9 7 3T €7

What is normalization? What are its applications?
R = (A, B, C, D) 3 F, R %1 Functional Dependencies ®T I & o7 fF

{A—> B, A—»C, BC— D}.
firg ¥l A—D.
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Let R = (A, B, C, D) and F be the set of functional dependencies for R
given by
{A—>B,A—>C, BC~— D}

Prove A—» D
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@ Query evaluation & a7 WHSRI &7 Query evaluation ¥ TaNT €1 arer R
& aftfa AR
What is meant by the term query evaluation? Discuss the rules that are applied
during query evaluation.
@) Distributed @ Object oriented TERT & 4 Sim |
Explain distributed database and object oriented database.
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‘Write short notes on:-
G) Vertical and horizontal fragmentation.
(ii) Commit Protocols in distributed Database.
(iii) Query Estimation Techniques.
{iv) Architecture of distributed database.
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Write SQL Commands to do the following:-

a)  Consider employee (e-no, e-name, e-salary, d-code) dept (d-code,
d-name) and dependent (depndt-name, e-no, relation).

S employees & M TAMEY ST f& Purchase U Accounts deptt, % iy
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Show the names of employees in Purchase and Accounts departments with

atleast one dependent.
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Consider student (std_id, std_name, date of birth, phone, dept_name). Put the
data for a student with student id 200, name Arun, birth date 1% February,
1985, phone number (011) 32818 and dept name English in the student table.

Date of birth field Y % Student 2R ¥ 8 % 9 less-than-20 HAg< @
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A constraint named less-than-20 was defined on the field date of birth of table

student. Delete this constrainis,
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Consider the table student and list name of student in the departments other
than Maths and Computer.
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Consider employee table of (a) and list name of department(s) for which
average salary for department is more than 10,000,
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Write short notes on the following:-
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DML
Commit and Roll back
SQL

Transaction Control.
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Write a procedure that reads data from a table called bill containing bill
number, bill date, bill amount and the number of days from bill date within
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which bill to be paid. The procedure should find total number of bills, which
are to be paid, and the total amount to be paid today.
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Explain cuesor concepts with the help of suitable example,
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What are different type of triggers and their uses? Write a trigger, which will
disallow any uses to change the table name PAYROLL in anyway on Sunday
or Saturday.
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How concurrency control in oracle is implemented using locks?
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